ol 2[XA gy SYMT A

= 8Y/HMIZ olo|x]

o

S0 2E(E A SUT O R HML A
H4 e Zol L TIAER Fy, 2 E Bl Z0| Lot 1 AE HIME Fy,

Ak
e Fg, = FraxLs
L

e Fg, = 28 KNX10MM _ g 590y
18 mm

Eof mHE X% L5 =10 mm
B Bl Zol L = 18mm
RF B2 Fg, 20 = 1.30kN

© HEINRICH KIPP WERK GmbH & Co. KG

ks

MHE A9

EHE o 2= = 37H0| MiEHE ST AA-l 0l ME L
Ct ZEE Bl 2T e HBESY| 20 &2 SZHollME Chest
gl A|AEI| £045HH AFR 7t EHLC].

TH&EL:

A L mAE AL
EM o2

522 AX™ Ate O
I|AE 73 %2

.

ZE{2| Bl SYZolM B Blus TAE 2oof AP HY
Bl B ZE{2l Bl STo| B2 AZ 2 WRIME S8, =5 8l
4 322 0| o o2 (HHIB Ea shrlEn YeLich ous iz
olsf aiols Ade Saf 3IxiAl plle] 2Yzof SSELICH

ZE{2| Bl 2YZZ ST HM BTt ZHES T e
oIS stod ST LI, BTS2 T Hixish] 9loh B Aot 5]
2 ols3to] BE20| HE K| oA B2 MH TS LI 2E
2l 2l 2T ol Y AER = HM 2ol kol et T2t ElL
ct.

2T Yo BX7H UK HYIMoR HEs T LR B Has
MAl2.
A2l 9IxI7h 5|7 Bluf SYZo| B Bl 317 Fodol &l BHO| B

SR A FOlstMAR.

2E2| ] ERz ol ZX| EH2 Mx| A| =2 9| = 0lof A
ME|o{of 5tH EUE ZQIEE Lo Z Q|x|slof gLict

SHEA X|YstH &2 HM HHolz 3
5t & 0
=

ZEfE| B B ?
%17t 8t 0l XA MAEIZHE K| HHE Al 2Q15HAIA

ZEZ[ 3H ZRZoll= 7HE M 27 FEE + U&LICH ZEE
Bl 2>z o| B2 B 2t Zoloi ek & olghLlct,

ZEEZ B 2ZE HM BHE Bl Helol ZEX| ef&LICH

71& G0l E:
Z|CH &S =: 400bar.

Egl:
Mx| 2ZMe X AAL.

www.kipp.com - info@kipp.com 1/4



| K1856_ ,
St SIMA! 2t ST A2 2|E0] Y= HS/EHE Kipn

= 8Y/HMIZ olo|x]

o

o 2 T|AE 270 AEZ23 2 Qx| Fo.

ot

4710 AN S E A F DINENISO4762 Z = S=288 %

FA B 2EZE HM B K1857.

=M M.

1) Bl 2l 7'OI(K185 7EHZE)
2) 512 (K1857 & x)

3) HMMEI &=

4) A—|7';| O_T'_I-A-{

5) 52 2MzEl

6) st Al

7) 2 o

g) 2T

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



[ ]
(=Xo ] W Hielix AT Ool=
ot 21X gt ST AR 2[H| U= SS/ES
=M
T
al )
Q| ¢ i
I—t= g !
x G = G ! :
| [
; T t 1
2 I = =2 | g
Dy 01,
D1y | - =
4, L L4, L
b L
L3 L2 L3 12
|
+ ! 4‘ + +
| ) | )
! 1 1
o |30 | 5] = o | 4} |5
ARl A ?
t ! + ] + | i +
.
® ®
@ 50° 50°
H8
D1 ® ® D1#
2 / i
[ TN ©
{. <+ j
y D S S T
1 %4{? = 3 | ZR
\ s
\ N 7777, 777
e [l
L1
o L2 G (4 G (4¥)
a2 !
_FE
T
E52Y%
2 SIHA Bl SE, AT 3|EH0| Y= BE/HS
TEHS Etel mAE  HeHEY 4z Eted B B1 D D1 G G1 H H1 H2 H3 H4
N
K1856.121304 A 12 =554 CE2E &g 27 195 194 20 M4 M4x8 15 21 21 75 215
K1856.161304 A 16 554 CEE Mg 34 25 23 24 M5 M5x12 20 26 28 10,5 26,5
K1856.201304 A 20 554 c2E R 40 30 29 30 M6  M6x10 25 325 35 9 33
K1856.251304 A 25 554 C2EAg 52 385 35 36 M8 M8x12 31,26 37 43,775 11,5 38
K1856.321304 A 32 =554 CE2EAME 66 49 43 45 M10 M10x15 40 42 56 13 43
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



)
= — _— —
T2 SIHA 2|t ST AT B|E0] Y= BE/EHS
EZS 29
FEHS Et el Ellﬁf el Ef iZEel B B1 D D1 G G1 H H1 H2 H3 H4
=
K1856.401304 A 40 554 EZE Mg 78 59 53 55 M12 M12x18 50 47 70 17,5 48
K1856.122304 B 12 os 4 ERIEIAME 27 195 - 20 M4 M4x8 15 23 21 75 235
K1856.162304 B 16 ChE 4 ERIEIAME 34 25 - 24 M5  M5x12 20 26 28 10,5 26,5
K1856.202304 B 20 =k EZ2Exd 40 30 - 30 M6  M6x10 25 325 35 9 33
K1856.252304 B 25 os 4 ERIEIAME 52 385 - 36 M8 M8x12 3125 37 43,75 115 38
K1856.322304 B 32 = E2lElxid 66 49 - 45 M10 M10x15 40 47 56 11,5 48
K1856.402304 B 40 s 4 ERIEIAME 78 59 - 55 M12 M12x18 50 55 70 17,5 56
FEHS Bl mAE H5H6H7 L L1 L2 L3 L4 L5 R LAEH IAEY 2% SEr
NS 100bar 29  400bar 2 (cm®) I|IAE BHHN
(KN) (KN) (cm?)
K1856.121304 A 12 14 11 23 26 185 3,75 875 7,5 7,5 106 1,7 7 1,06 1,77
K1856.161304 A 16 17 132632 23 45 95 10 10 142 2,8 11,3 2,03 2,83
K1856.201304 A 20 17 143140 30 5 135 11 125 157 4,5 18 4,52 4,52
K1856.251304 A 25 20 15 33 49 355 6,75 14,75 11 1563 187 6,15 24,6 8,82 6,15
K1856.321304 A 32 23173862 45 85 185 9 20 197 10,1 40,6 16,27 10,17
K1856.401304 A 40 2519 4074 55 95 215 12 25 247 15,9 63,6 31,8 15,9
K1856.122304 B 12 - - - 26185375 875 75 75 106 1,1 4,4 0,68 1,13
K1856.162304 B 16 - - -3 23 45 95 10 10 142 1,9 8 1,61 2,01
K1856.202304 B 20 - - -40 30 5 135 135 125 157 3 12,4 3,14 3,14
K1856.252304 B 25 - - - 49355 6,75 1475 11 1563 18,7 4,7 19,4 6,14 4,91
K1856.322304 B 32 - - -62 45 85 185 9 20 197 7.8 32 12,9 8,04
K1856.402304 B 40 - - - 74 55 95 215 12 25 247 12,3 50 252 12,57
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



